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Formula List

2

Area of trapezium = % (a+ b N

A
i

Volume of prism = area of cross-section x length

{185-02)




1. Tom decides to buy new plants for his garden from the local garden centre.

Complete the following bill for the items he buys.

£185-02)

ITEM COST
4 rose bushes at £6.74 each £26.96
24 hedging plants at £2.74 each £ 6576
6 azaleas at £6.82 each £ o972
5 bags of peat at £3.75 a bag £1%-7S
1 bag of fertiliser at £3.61 £ 3.61
TOTAL £ 156 -CD
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- By counting squares, estimate the area of the above figure, which is drawn on a centimetre

square grid. :
Area = 6?’ cm?
(b} Which metric unit is best used to measure

(1) the weight of a car,

(i} the volume of a container of milk,

(i11)  the distance between Llandrindod Wells and Wrexham?

{185-02)
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3. {(a} Write in figures the number eleven thousand seven hundred and fifty three.

"H/ng

{b) Andrew buys a CD for £6.25 and a DVD for £11.56.
He pays with a £20 note.
How much change should Andrew be given?

L

{c) Meganis given £50 for her birthday.
She uses the money to buy three pairs of shoes.
Each pair of shoes costs £14.89.
How much of the £50 will be left?

R 2 R S i
| o 2]

(d)

GOOD FIT SHOES P

pit prices reduced by 5go, pi prices reduced by 1

+ Sam says that in the shoe sale “WELL MADE SHOES' have reduced their prices more than
‘GOOD FIT SHOES".
Explain why Sam is wrong.

Lo ey - 257
.-.....(.(:..................................._...........4......m......-.....-....-........-u................................-..............................................4‘.4.,.
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4.

[1R5-02}

Gary carries out a survey to find the most popular type of pet.
The results of his survey are shown in the following table.

Type of pet Tally Frequency
Fish YR (2
Dog T TR TRL W TR 1) A
Rabbit WL 3
Cat - TR T T T T AR
Other WL | 1O

Comptlete the frequency column in the above table and use this data to draw a suitable bar chart on
the graph paper below.

14]
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5, {(a) Write down the next term in each of the following sequences.
@ s 1, 17, 23, &%

Gy 56, 49, 42, 35, 2%

(b) The symbol [l is used to form a pattern.
The first three patterns are shown below.

d Od L0
0 ] COOnLs
1o Lo0oOood mininininiainicn

Pattern § Pattern 2 Pattern 3
b 2 : L

(iy Draw a diagram showing the fourth pattern.

300
oo o Dar

(ii) Without drawing the pattern, calculate the number of [] symbols that would be
needed to draw the fifth pattern.

{185-02) Turn over.
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6. (a) Name each of the following shapes. B

TRAPEZIUM

(b) Which two of the following shapes are congruent to each other?

on]

cC

|
No =

A D

The CONZruent SHAPES AT wovwwerrmmerrreriserrsersesiressreses s [i]
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(1R5-12}

s

(a) Write down the coordinates of the point C.

Coordinates of C are ('“S

{b)

Write down the coordinates of the point R which would make PORS a rectangle.

{

Coordinates of R are (zi' s erreerserronn )

Turn over.
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8. (a) Solve each of the foliowing equations.

(i) 4x=128

(i) x+8=19

x = \4-%

{b) The diagram below represents a number machine.

INPUT

A 4

Add
-7

¥

Find the OUTPUT when the INPUT is -9,

=

OUTPUT = oo

{c) Given that W= 4H + 6D, find the value of W when H=-3 and D = 4.

Multiply
by 3

OuUTPUT

RGO L 11O

36

\]

(18502}

Examiner
only
Arhobwr
v RHIG




9,
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11

(a) Alex piayed cricket for his school. The runs he scored in matches in the 2006 cricket season
are shown below,

34, 46, 23, |, 56, 45, 67, 3, 92, 5% 29

r——

(1) Write down the range of these scores.

(ity Calculate his mean score for the season.

 mtyet23 T 1S TES + LT g2 450425

(b} Find the median of the following aumbers.

poopl o a m gl A

S
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10. (a) A shopkeeper has a box containing 750 screws.
He decides to seli them in small bags, each bag containing 36 screws.
"How many bags can he fill and how many screws will be left over?

e o S o - T
Number of bags -’9\O

Number of screws left over 30

{b) Mathew hires a high-pressure water jet to clean his drive and garden patio.
The cost of hiring the jet is £25.55 plus a daily charge of £5.75.
How much would Andrew pay if he hired the water jet for 4 days?

RS A e ST
R e S |

(c)  In 2006 Simon earned £24 500.
His salary increased by 14% in 2007.
Calculate the increase in Simon'’s salary in 2007.

{d) Write down the value of

i 413

(i) /9216 . ‘
-6

[ER5-(12)
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13

(e) Write 2-340756

(i) correct to the nearest whole number,

(i)  correct to 4 decimal places.

B B2 S

{f)  Find the value of 3-2%~ /3136 giving your answer correct to 1 decimal place.

R T . S

= -6

Turn over.
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11.

25¢cm

10cm

20cm

{a) A storage container, in the shape of a cuboid, measures 20 cm by [0 cm by 25 cm. Calculate
the volume of the container, clearly indicating the units of your answer.

2

.~

= Docecm

(b) The container is used to store 4 litres of cooking oil.
Calculate the distance of the surface of the cooking oil below the top of the container.

A
AfSCCOrzoxle]"\

s S N

geem =h

Bem belew Top

(1R5-02)
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The above diagram shows a triangular field ABC in which AB = 600 m, BC = 375 m and
CA =450m.

Using a scale of 1cm to represent 50 m, make an accurate scale drawin g of the field. [31

(183412 Turn over.
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13. Simon buys 18 bags of sand and 6 bags of cement.
The total cost of the sand and cement is £63.
The cost of a bag of sand is £2.23.

Calculate the cost of one bag of cement.
e 18x225 2 A0SO

{IR5-02)
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14. (a) Find the size of the angle marked y in the following diagram. i i

Diagram not drawn o scale.

Xz Bho —bS -~ lon -~ 9%

(6} Draw a reflection of the following triangle in the x-axis. i1

A7

(8502 T D o S : ' Turn over.
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15. The following table shows the pairs of marks obtained by a set of pupils in two science tests.

Science test 1 74 92 56 38 54 82

46

46 96

Science test 2 48 64 42 24 38 56

28

32 72

On the graph paper below draw a scatter diagram for these tests.

{a)

Seience test 2

3
g0 IS—

80 1

60 4~ -4

T —

0 ERENLNS URCEDS SIS DUNES B B I > Science
0 20 40 60 80 100 (ast 1
‘b ). What type of correlation is shown by your scatter diagram?
PosiTwE e
1185-02)
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16, (a)

i9

Solve the following equations.

() 3x-2=19

(i) 4x+3=2x-5

G F—g

e

(b) Factorise 7a+ 21.

Turn over.
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17. {a) Andrew sells his house for £210 000. .

(i) The estate agent selling the house charges 1-5% on the first £150 GOC of the selling
price and 2-4% on the remainder. ;

Calculate the total amount Andrew has to pay to the estate agent.

[oé = SO0 H‘E’ﬂ, = 225D

&y < ko sen = E'-L«z—-’-{—c: _ :

1o T

(i1)  Charlie, Mary and Sian buy the house for £210 G00.
They contribute to the cost of buying the house in the ratio 8:7:5.
How much does each contribute?

L ae &P - 210 coe e,

L ?ﬁ R0 oo :f&‘@&:é A
...........“..“.“.'..“.u......H...“..“....-....n-.........-.....-2??..................................»...-u-.....-.............................................4...‘....
Ct\c-la@pcﬁsf%xﬁ!osocv

Moy 1 pat = Axfosw =

Charlie contributes £ mﬁ,ooo

Mary contributes £ '??,JSO'B
Sian contributes £ Sz)f e

[7]

(b) Jenny bought some jewellery, in a car boot sale, for £25,
She sold the jewellery to Alan and made a 30% profit.
How much did Alan pay ?)r the jewellery?

YA 5

A S

. e 1
(3]

1185-002)

Exuminer
only
Arholar
nounig



18.

{1R5-412)

21

28cm
2lcm

] [ ]

18cm

The above diagram shows a trapézium ABCD with AB = 28 c¢cm, BC = 18cm and €D = 2| cm.
Angle ABC = 90° and angle BCD = 90°,
Calculate the fength of AD, giving your answer to an appropriate degree of accuracy.

A=

A3y

e ADT=31R

5]

Turn over.
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19. A solution to the equation

x3——5x~34=0

lies between 3-7 and 3-8.
Use the method of trial and improvement to find this solution correct to two decimal piaces.

3 ~ .-

(= O823k37S — 1875~ 3G

= =60t Tee small

S e
TS N Lo T B S0 S

“

EF 038 oo B

e o e
e e

Y

auy % x = %7‘5 _
%3 2 CL/J .
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